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Problem Sheet

Electrostatics Stuff

1. What is charge (in units of both elementary charges and coulombs) on an object that 


a) has 12 more electrons than protons?


b) lacks 5 electrons


c) is comprised solely of a mole of protons?

2. Given the amount of charge, state whether that amount of charge is possible and if so, 
what the charge imbalance must be occurring to produce that net charge:

a) – 1.28 x 10-18 C
b) + 9.00 x 10-19 C
c) 5.00 μC
d) -10 C

3) Two positive charges of 6.0 x 10-6 C are separated by 0.50 meters. What is the force 

between them? Is it attractive or repulsive?

4) A negative charge of -2.0 x 10-4 C and a positive charge of 8.0 x 10-4 C are separated 
by 30 cm. What is the force between them? Is it attractive or repulsive?
5) A negative charge of -6 μC exerts an attractive force of 65 N on a second charge that 

is 0.005 meters away. What is the charge (amount and sign of)?

6) A positive charge of 1.6 x 10-6 C and a negative charge of -1.0 x 10-6 C exert a force of 

83 N on each other. How far apart are they?

7) Two identical charged particles are 1.08 m apart. They exert a force on 0.2 N on each 

other. What is magnitude of the charge on each particle?

8) Three charged particles are located on the x axis. A first charge of - 4.0 μC is placed at 

(-2.0 m ,0). A second charge of + 5.0 μC is placed at the origin. A third charge of + 8.0 

μC is placed at (3.0 m, 0). For each, the magnitude and direction of the force is needed.

a) What is the NET force on the charge at the origin?

b) What is the NET force on the charge at (-2.0 m, 0)?

c) What is the NET force on the charge at (3.0 m, 0)?

9) Now, the third charge is moved to (0, 3.0 m). Magnitude and direction needed 

a) What is the NET force on the charge at the origin?

b) What is the NET force on the charge at (-2.0 m, 0)?

10) A pith ball has a mass of 10 grams and a charge of 8.0 x 10-9 C. It is suspended by a 

string. A charged object is brought near, causing the pith ball to deflect to the right. The 
string makes an angle of 10o to the vertical when the second charge is 10 cm from the 

deflected pith ball. What is the charge of the second charge?
